

## Research Article

# Coefficient Estimates for Some Classes of Biunivalent Function Associated with Jackson $q$ -Difference Operator

Ekram E. Ali <sup>1,2</sup>, Abdel Moneim Lashin <sup>3,4</sup> and Abeer M. Albalahi<sup>1</sup>

<sup>1</sup>Department of Mathematics, College of Science, University of Ha'il, Ha'il 81451, Saudi Arabia

<sup>2</sup>Department of Mathematics and Computer Science, Faculty of Science, Port Said University, Port Said 42521, Egypt

<sup>3</sup>Department of Mathematics, Faculty of Science, King Abdulaziz University, Jeddah, Saudi Arabia

<sup>4</sup>Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt

Correspondence should be addressed to Abdel Moneim Lashin; aylashin@mans.edu.eg

Received 24 June 2022; Revised 9 August 2022; Accepted 13 August 2022; Published 9 September 2022

Academic Editor: Baowei Feng

Copyright © 2022 Ekram E. Ali et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Using the Jackson  $q$ -difference operator, we present two new subclasses of biunivalent functions. Furthermore, we estimate the initial Taylor-Maclaurin coefficients  $|a_2|$  and  $|a_3|$  of functions belonging to these new subclasses. Our results generalize some of the previously related works of several authors.

## 1. Introduction

Let  $A$  denote the normalized analytical function family  $f$  of the formula

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (1)$$

in the open unit disc  $U = \{z \in \mathbb{C} : |z| < 1\}$ . Further, by  $S$  we shall denote the class of all functions in  $A$  which are univalent in  $U$ . If  $f$  and  $g$  are analytic functions in  $U$ , we say that  $f$  is subordinate to  $g$ , written  $f \prec g$  if there exists a Schwarz function  $w = \sum_{k=1}^{\infty} w_k z^k$  and  $|w(z)| < 1$  for all  $z \in U$ , such that  $f(z) = g(w(z))$ ,  $z \in U$ . Furthermore, if the function  $g$  is univalent in  $U$ , then we have the following equivalence (cf., e.g., [1, 2])

$$\begin{aligned} f \prec g &\Leftrightarrow f(0) = g(0), \\ f(U) &\subset g(U). \end{aligned} \quad (2)$$

$q$ -calculus plays an important role in the theory of hypergeometric series and quantum theory, number theory, statistical mechanics, etc. In the early 1900s, studies on  $q$

-difference equations were intensified by Jackson [3, 4], Carmichael [5], Mason [6], and Trjitzinsky [7]. It was Ismail et al. [8] who introduced geometric function theory and  $q$ -theory together for the first time. Following the same idea, the  $q$ -difference operator has been extensively investigated in the field of geometric function theory by many authors; for some recent works related to this operator on the classes of analytic functions, we refer to [9–11]. For any nonnegative integer  $k$  the  $q$ -number (or basic number)  $[k]_q$  is defined by

$$[k]_q = \frac{1 - q^k}{1 - q}, [0]_q = 0. \quad (3)$$

For nonnegative integer  $k$ , the  $q$ -factorial is defined by

$$[k]_q! = [1]_q [2]_q [3]_q \cdots [k]_q \quad ([0]_q! = 1). \quad (4)$$

We note that when  $q \rightarrow 1$ ,  $[k]_q!$  reduces to classical definition of factorial. Throughout in this paper, we will assume  $q$  to be a fixed number between 0 and 1.

For  $f(z) \in A$ , the  $q$ -derivative operator or  $q$ -difference operator is defined as

$$D_q f(z) = \begin{cases} \frac{f(qz) - f(z)}{(q-1)z} & (z \neq 0), \\ f'(z) & (z = 0), \end{cases} \quad (5)$$

and  $D_q^2(f(z)) = D_q(D_q(f(z)))$ . From (5), we deduce that

$$D_q f(z) = 1 + \sum_{k=2}^{\infty} [k]_q a_k z^{k-1}. \quad (6)$$

Recently, Govindaraj and Sivasubramanian [12] defined Salagean  $q$ -derivative operator as follows:

$$\begin{aligned} S_q^0 f(z) &= f(z), \\ S_q^1 f(z) &= z D_q f(z), \\ S_q^n f(z) &= z D_q (S_q^{n-1}(f(z))). \end{aligned} \quad (7)$$

A simple calculation implies

$$S_q^n f(z) = (f * G_q^n)(z) \quad (n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\} = \{0, 1, \dots\}), \quad (8)$$

where

$$G_q^n(z) = z + \sum_{k=2}^{\infty} [k]_q^n z^k \quad (n \in \mathbb{N}_0, z \in U). \quad (9)$$

Making use of (8) and (9), the power series of  $S_q^n f(z)$  for  $f$  of the form (1) is given by

$$S_q^n f(z) = z + \sum_{k=2}^{\infty} [k]_q^n a_k z^k, \quad (10)$$

and  $\lim_{q \rightarrow 1^-} S_q^n f(z) = D^n f(z) = z + \sum_{k=2}^{\infty} k^n a_k z^k$ , which is the familiar Salagean derivative [13]. Shams et al. [14] introduced and investigated the class  $US^*(k; \beta)$  of parabolic starlike functions and the class  $UC(k; \beta)$  of parabolic convex functions of order  $\beta$  ( $0 \leq \beta < 1$ ) as

$$US(k; \beta) = \left\{ f \in A : \Re \left( \frac{zf'(z)}{f(z)} - \beta \right) > k \left| \frac{zf'(z)}{f(z)} - 1 \right| \right\}, k \geq 0, \quad (11)$$

$$UC(k; \beta) = \left\{ f \in A : \Re \left( 1 + \frac{zf''(z)}{f'(z)} - \beta \right) > k \left| \frac{zf''(z)}{f'(z)} \right| \right\}, k \geq 0. \quad (12)$$

Since  $\operatorname{Re} w > \alpha|w-1| + \gamma$  if and only if  $\operatorname{Re} \{w(1 + \alpha e^{i\theta}) - \alpha e^{i\theta}\} > \gamma$  (see [15]), then the conditions (11) and (12) can be written as

$$\begin{aligned} US(k; \beta) &= \left\{ f \in A : \Re \left[ \left( 1 + k e^{i\theta} \right) \frac{zf'(z)}{f(z)} - k e^{i\theta} \right] > \beta \right\}, k \geq 0, \\ US(k; \beta) &= \left\{ f \in A : \Re \left[ \left( 1 + k e^{i\theta} \right) \left( 1 + \frac{zf''(z)}{f'(z)} \right) - \beta e^{i\theta} \right] > \beta \right\}, k \geq 0. \end{aligned} \quad (13)$$

Let  $\varphi$  be analytic function with positive real part and normalized by the conditions  $\varphi(0) = 1, \varphi'(0) > 0$  and  $\varphi$  maps  $U$  onto a region starlike with respect to 1 and symmetric with respect to the real axis

$$\varphi(z) = 1 + B_1 z + B_2 z^2 + \dots, B_1 > 0. \quad (14)$$

*Definition 1.* A function  $f(z) \in A$  is said to be in the class  $S(\gamma, \beta, \lambda, \phi)$  ( $\beta \geq 0, 0 \leq \lambda \leq 1, -\pi \leq \gamma < \pi$ ) if it satisfies

$$(1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} \prec \varphi(z) \quad (z \in U). \quad (15)$$

*Remark 2.* Taking  $\beta = 0, \varphi(z) = (1+z)/(1-z)$ , and  $q \rightarrow 1^-$  in the class  $S(\gamma, \beta, \lambda, \phi)$ , we get the well-known class of  $\lambda$ -convex functions which was studied by [16].

*Definition 3.* A function  $f(z) \in A$  is said to be in the class  $B(n, \gamma, \beta, \lambda, \phi)$  ( $\beta \geq 0; n \in \mathbb{N}, 0 \leq \lambda \leq 1, -\pi \leq \gamma < \pi$ ) if it satisfies

$$\left[ (1 + \beta e^{i\gamma}) \frac{(1 - \lambda) S_q^{n+1} f(z) + \lambda S_q^{n+2} f(z)}{(1 - \lambda) S_q^n f(z) + \lambda S_q^{n+1} f(z)} - \beta e^{i\gamma} \right] \prec \varphi(z) \quad (z \in U). \quad (16)$$

In Definition 3, if we set  $F(z) := (1 - \lambda) S_q^n f(z) + \lambda S_q^{n+1} f(z)$ , we obtain a new class  $US(\lambda, \gamma, \varphi)$  given below.

*Example 1.* A function  $F(z) \in A$  is said to be in the class  $US(\lambda, \gamma, \varphi)$  ( $0 \leq \lambda \leq 1, -\pi \leq \gamma < \pi$ ) if it satisfies

$$(1 + \beta e^{i\gamma}) \frac{z D_q F(z)}{F(z)} - \beta e^{i\gamma} \prec \varphi(z) \quad (z \in U). \quad (17)$$

*Remark 4.* Taking  $\beta = 0$  and  $\varphi(z) = (1 + (1 - 2\alpha)z)/(1 - z)$  in the class  $B(\lambda, \gamma, \varphi)$ , we get the class  $S_q^*(\alpha)$  of  $q$ -starlike functions of order  $\alpha$  ( $0 \leq \alpha < 1$ ) which was introduced by Seoudy and Aouf [17].

The well-known Koebe one-quarter theorem [18] ensures the range of every function of the class  $S$  contains the disc  $\{w : |w| < 1/4\}$ . Thus, every univalent function  $f \in$

$S$  has an inverse  $f^{-1}$ , which is defined by

$$\begin{aligned} f^{-1}(f(z)) &= z \quad (z \in U), \\ f(f^{-1}(w)) &= w \quad \left( \left| w \right| < \frac{1}{4} \right), \end{aligned} \tag{18}$$

where

$$f^{-1}(w) = w - a_2w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots \tag{19}$$

If a function  $f$  and its inverse  $f^{-1}$  are both univalent in  $U$ , then a member  $f$  of  $A$  is called biunivalent in  $U$ . We symbolize by  $\Sigma$  the family of biunivalent functions in  $U$  given by (1). Lewin [19] examined the family  $\Sigma$  and proved that  $|a_2| < 1.51$  for elements of the family  $\Sigma$ . Later, Brannan et al. [20] claimed that  $|a_2| < \sqrt{2}$  for  $f \in \Sigma$ . Subsequently, Tan [21] obtained some initial coefficient estimates of functions belonging to the class  $\Sigma$ . Brannan and Taha in [22] proposed biconvex and bistarlike functions, which are similar to well-known subfamilies of  $S$ . The research trend in the last decade was the study of subfamilies of  $\Sigma$ . Generally, interest was shown to obtain the initial coefficient bounds for certain subfamilies of  $\Sigma$ . In 2010, Srivastava et al. [23] introduced two interesting subfamilies of the function family and found bounds for  $|a_2|$  and  $|a_3|$  of functions belonging to these subfamilies. Subsequently, other writers explored related problems in this direction (see [9, 10, 24–30]).

**Definition 5.** A function  $f \in \Sigma$  given by (1) is said to be in the class  $S_\Sigma(\gamma, \beta, \lambda, \phi)$  if both  $f$  and its inverse map  $g = f^{-1}$  are in  $S(\gamma, \beta, \lambda, \phi)$ .

**Remark 6.** Note the following:

- (1) If  $\beta = 0$  and  $\phi = (1 + \tau^2 z^2)/(1 - \tau z - \tau^2 z^2)$ , then the class  $S_\Sigma(\gamma, 0, \lambda, (1 + \tau^2 z^2)/(1 - \tau z - \tau^2 z^2))$  is equivalent to the class  $SLM_\Sigma(q, \alpha, 0)$  introduced by [10]
- (2) If  $q \rightarrow 1^-$ , then the class  $S_\Sigma(\gamma, \beta, \lambda, \phi)$  is equivalent to the class the class obtained by Attiya et al. [32]
- (3)  $\lim_{q \rightarrow 1^-} S_\Sigma(\gamma, 1, 0, \phi) \equiv \mathfrak{R}_\sigma(\phi)$  (see Darwish et al. [33])
- (4)  $\lim_{q \rightarrow 1^-} S_\Sigma(\gamma, 0, 0, (1 + Az)/(1 + Bz)) \equiv S[A, B]$  (see Hamidi and Jahangiri [34])
- (5)  $\lim_{q \rightarrow 1^-} S_\Sigma(\gamma, 0, \lambda, \phi) \equiv M_\Sigma^q(\lambda, \phi)(\varphi(z) = 1)$  (see Goyal and Kumar [35] and also Zireh et al. [36])

**Definition 7.** A function  $f \in \Sigma$  given by (1) is said to be in the class  $B_\Sigma(n, \gamma, \beta, \lambda, \phi)$  if both  $f$  and its inverse map  $g = f^{-1}$  are in  $B(n, \gamma, \beta, \lambda, \phi)$ .

In Definition 7, if we set  $F(z) := (1 - \lambda)S_q^n f(z) + \lambda S_q^{n+1} f(z)$  and  $G(z) := (1 - \lambda)S_q^n g(z) + \lambda S_q^{n+1} g(z)$ , we obtain a new class  $US_\Sigma(\lambda, \gamma, \phi)$  given below.

**Example 2.** A function  $F \in \Sigma$  given by (1) is said to be in the class  $US_\Sigma(\lambda, \gamma, \phi)$  if

$$\begin{aligned} (1 + \beta e^{i\gamma}) \frac{z D_q F(z)}{F(z)} - \beta e^{i\gamma} &< \varphi(z) \quad (z \in U), \\ (1 + \beta e^{i\gamma}) \frac{w G'(w)}{G(w)} - \beta e^{i\gamma} &= \phi(w) \quad (w \in U). \end{aligned} \tag{20}$$

**Remark 8.** Note the following:

- (1) If  $\beta = 0$ , then the class  $B_\Sigma(n, \gamma, 0, \lambda, \phi)$  is equivalent to the class  $P\Sigma_q^k(\lambda, \phi)$  introduced by Murugusundaramoorthy et al. [31]
- (2) If  $q \rightarrow 1^-$ , then the class  $B_\Sigma(0, \gamma, \beta, \lambda, \phi)$  is equivalent to the class introduced by Attiya et al. [32]
- (3)  $\lim_{q \rightarrow 1^-} B_\Sigma(0, \gamma, 1, 0, \phi) \equiv \mathfrak{R}_\sigma(\phi)$  (see Darwish et al. [33])
- (4)  $\lim_{q \rightarrow 1^-} B_\Sigma(0, \gamma, 0, 0, (1 + Az)/(1 + Bz)) = S[A, B]$  (see Hamidi and Jahangiri [34])
- (5)  $\lim_{q \rightarrow 1^-} B_\Sigma(0, \gamma, 0, \lambda, \phi) \equiv M_\Sigma^q(\lambda, \phi)(\varphi(z) = 1)$  (see Goyal and Kumar [35] and also Zireh et al. [36])

In order to prove our main results, we will need the following result.

**Lemma 9** (see [37]). *If  $h \in P$ , then  $|c_k| \leq 2$  for each  $k$ , where  $P$  is the family of all functions  $h$  analytic in  $U$  for which  $\text{Re}(h(z)) > 0, h(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots$  for  $z \in U$ .*

The aim of this paper is to find bounds on first two coefficients in the Taylor-Maclaurin expansion functional problem for functions belonging to the classes  $S_\Sigma(\gamma, \beta, \lambda, \phi)$  and  $B_\Sigma(n, \gamma, \beta, \lambda, \phi)$ . We also indicate interesting cases of the main results.

## 2. Coefficient Estimates

Unless otherwise mentioned, we shall assume throughout the remainder of this paper that  $\beta \geq 0, 0 \leq \lambda \leq 1, -\pi \leq \gamma < \pi, n \in \mathbb{N}_0$ , and  $z \in U$ .

**Theorem 10.** *Let the function  $f$  given by (1) be in the class  $S_\Sigma(\gamma, \beta, \lambda, \phi)$ . Then*

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{q \sqrt{\left| (1 + \beta e^{i\gamma}) \left\{ (1 - \lambda + \lambda 2]_q \right\} B_1^2 + (1 + \beta e^{i\gamma})(1 + \lambda q)^2 (B_1 - B_2) \right| }}, \tag{21}$$

$$|a_3| \leq \frac{B_1}{q[2]_q |1 + \beta e^{i\gamma}| (1 + \lambda q[2]_q)} + \frac{B_1^2}{2q^2 |(1 + \beta e^{i\gamma})^2| (1 + \lambda q)^2}. \tag{22}$$

*Proof.* Let  $f \in S_\Sigma(\gamma, \beta, \lambda, \cdot, \phi)$ ; then  $f$  and its inverse map  $g = f^{-1}$  are in the class  $S(\gamma, \beta, \lambda, \phi)$ ; there exist two analytic functions  $u, v : U \rightarrow U$  with  $u(0) = v(0) = 0, |u(z)| < 1$  and  $|v(z)| < 1$ , such that

$$(1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} = \varphi(u(z)), \tag{23}$$

$$(1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{w D_q g(w)}{g(w)} + \lambda \frac{D_q(w D_q g(w))}{D_q g(w)} \right] - \beta e^{i\gamma} = \varphi(v(w)). \tag{24}$$

Define the functions  $p$  and  $q$  by

$$\begin{aligned} p(z) &= \frac{1 + u(z)}{1 - u(z)} = 1 + p_1 z + p_2 z^2 + \dots, \\ q(w) &= \frac{1 + v(w)}{1 - v(w)} = 1 + q_1 w + q_2 w^2 + \dots, \end{aligned} \tag{25}$$

or equivalently,

$$u(z) = \frac{p(z) - 1}{p(z) + 1} = \frac{1}{2} \left( p_1 z + \left( p_2 - \frac{p_1^2}{2} \right) z^2 + \dots \right), \tag{26}$$

$$v(w) = \frac{q(w) - 1}{q(w) + 1} = \frac{1}{2} \left( q_1 w + \left( q_2 - \frac{q_1^2}{2} \right) w^2 + \dots \right). \tag{27}$$

We observe that  $p, q \in P$ , and in view of Lemma 9, we have that  $|p_n| \leq 2$  and  $|q_n| \leq 2$ , for  $n \geq 2$ . Further, using (26) and (27) together with (14), it is evident that

$$\varphi(u(z)) = 1 + \frac{1}{2} B_1 p_1 z + \left( \frac{1}{2} B_1 \left( p_2 - \frac{p_1^2}{2} \right) + \frac{1}{4} B_2 p_1^2 \right) z^2 + \dots, \tag{28}$$

$$\varphi(v(w)) = 1 + \frac{1}{2} B_1 q_1 w + \left( \frac{1}{2} B_1 \left( q_2 - \frac{q_1^2}{2} \right) + \frac{1}{4} B_2 q_1^2 \right) w^2 + \dots. \tag{29}$$

Therefore, in view of (23), (24), (28), and (29), we have

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} \\ = 1 + \frac{1}{2} B_1 p_1 z + \left( \frac{1}{2} B_1 \left( p_2 - \frac{p_1^2}{2} \right) + \frac{1}{4} B_2 p_1^2 \right) z^2 + \dots, \end{aligned} \tag{30}$$

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{w D_q g(w)}{g(w)} + \lambda \frac{D_q(w D_q g(w))}{D_q g(w)} \right] - \beta e^{i\gamma} \\ = 1 + \frac{1}{2} B_1 q_1 w + \left( \frac{1}{2} B_1 \left( q_2 - \frac{q_1^2}{2} \right) + \frac{1}{4} B_2 q_1^2 \right) w^2 + \dots. \end{aligned} \tag{31}$$

Since  $f \in \Sigma$  has the Taylor series expansion (1) and  $g = f^{-1}$  the series (19), we have

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} \\ = 1 + q(1 + \beta e^{i\gamma}) \left\{ (1 + \lambda q) a_2 z + \left[ (1 + \lambda q[2]_q) [2]_q a_3 \right. \right. \\ \left. \left. - (1 + \lambda q([2]_q + 1)) a_2^2 \right] z^2 + \dots \right\}, \end{aligned} \tag{32}$$

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{w D_q g(w)}{g(w)} + \lambda \frac{D_q(w D_q g(w))}{D_q g(w)} \right] - \beta e^{i\gamma} \\ = 1 + q(1 + \beta e^{i\gamma}) \left\{ -(1 + \lambda q) a_2 z + \left[ -(1 + \lambda q[2]_q) [2]_q a_3 \right. \right. \\ \left. \left. + \left\{ 2[2]_q (1 + \lambda q[2]_q) - (1 + \lambda q([2]_q + 1)) \right\} a_2^2 \right] z^2 + \dots \right\}. \end{aligned} \tag{33}$$

Comparing the corresponding coefficients of (30) and (32) yields

$$q(1 + \beta e^{i\gamma})(1 + \lambda q) a_2 = \frac{1}{2} B_1 p, \tag{34}$$

$$\begin{aligned} q(1 + \beta e^{i\gamma}) \left\{ (1 + \lambda q[2]_q) [2]_q a_3 - (1 + \lambda q([2]_q + 1)) a_2^2 \right\} \\ = \frac{1}{2} B_1 \left( p_2 - \frac{p_1^2}{2} \right) + \frac{1}{4} B_2 p_1^2. \end{aligned} \tag{35}$$

Similarly, from (31) and (33), we have

$$-q(1 + \beta e^{i\gamma})(1 + \lambda q) a_2 = \frac{1}{2} B_1 q_1, \tag{36}$$

$$\begin{aligned} q(1 + \beta e^{i\gamma}) \left[ -(1 + \lambda q[2]_q) [2]_q a_3 + \left\{ 2[2]_q (1 + \lambda q[2]_q) \right. \right. \\ \left. \left. - (1 + \lambda q([2]_q + 1)) \right\} a_2^2 \right] = \frac{1}{2} B_1 \left( q_2 - \frac{q_1^2}{2} \right) + \frac{1}{4} B_2 q_1^2. \end{aligned} \tag{37}$$

From (34) and (36), it follows that

$$p_1 = -q_1, \tag{38}$$

$$2q^2 (1 + \beta e^{i\gamma})^2 (1 + \lambda q)^2 a_2^2 = \frac{1}{4} B_1^2 (p_1^2 + q_1^2). \tag{39}$$

Adding (35) and (37) yields

$$2q^2(1 + \beta e^{i\gamma}) [1 - \lambda + \lambda 2]_q a_2^2 = \frac{1}{2} B_1(p_2 + q_2) + \frac{1}{4} (B_2 - B_1)(p_1^2 + q_1^2). \tag{40}$$

From (39) and (40), we get

$$a_2^2 = \frac{B_1^3(p_2 + q_2)}{4q^2(1 + \beta e^{i\gamma}) \left\{ (1 - \lambda + \lambda 2]_q B_1^2 + (1 + \beta e^{i\gamma})(1 + \lambda q)^2(B_1 - B_2) \right\}}. \tag{41}$$

Applying Lemma 9 for the coefficients  $p_2$  and  $q_2$ , we immediately have

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{q \sqrt{\left| (1 + \beta e^{i\gamma}) \left\{ (1 - \lambda + \lambda 2]_q B_1^2 + (1 + \beta e^{i\gamma})(1 + \lambda q)^2(B_1 - B_2) \right\} \right|}}. \tag{42}$$

This gives the bound on  $|a_2|$  as asserted in (21). Next, in order to find the bound on  $|a_3|$ , by subtracting (37) from (35), we get

$$a_3 = a_2^2 + \frac{B_1(p_2 - q_2)}{4q[2]_q(1 + \beta e^{i\gamma})(1 + \lambda q[2]_q)}. \tag{43}$$

Upon substituting the value of  $a_2^2$  from (39), we obtain

$$a_3 = \frac{B_1(p_2 - q_2)}{4q[2]_q(1 + \beta e^{i\gamma})(1 + \lambda q[2]_q)} + \frac{B_1^2(p_1^2 + q_1^2)}{8q^2(1 + \beta e^{i\gamma})^2(1 + \lambda q)^2}. \tag{44}$$

Applying Lemma 9 for the coefficients  $p_1, p_2, q_1$ , and  $q_2$ , we get

$$|a_3| \leq \frac{B_1}{q[2]_q |1 + \beta e^{i\gamma}| (1 + \lambda q[2]_q)} + \frac{B_1^2}{2q^2 |(1 + \beta e^{i\gamma})|^2 (1 + \lambda q)^2}, \tag{45}$$

which yield the estimate given by (22), and so the proof of Theorem 10 is completed.  $\square$

If we set

$$\varphi(z) = \left( \frac{1+z}{1-z} \right)^\eta = 1 + 2\zeta z + 2\zeta^2 z^2 + \dots (0 < \zeta \leq 1, z \in U), \tag{46}$$

in Definition 5, of the biunivalent function class  $S_\Sigma(\gamma, \beta, \lambda, \phi)$ , we obtain a new class  $S_\Sigma^\eta(\gamma, \beta, \lambda)$  given by Definition 11.

*Definition 11.* For  $0 < \zeta \leq 1$ , a function  $f(z) \in A$  is said to be in the class  $S_\Sigma^\eta(\gamma, \beta, \lambda)$  if it satisfies the following conditions:

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} &< \left( \frac{1+z}{1-z} \right)^\eta (z \in U), \\ (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{w D_q g(w)}{g(w)} + \lambda \frac{D_q(w D_q g(w))}{D_q g(w)} \right] - \beta e^{i\gamma} &< \left( \frac{1+w}{1-w} \right)^\eta (w \in U), \end{aligned} \tag{47}$$

where  $g = f^{-1}$ .

Using the parameter setting of Definition 11, in Theorem 10, we get the following corollary.

**Corollary 12.** For  $0 < \zeta \leq 1$ , let the function  $f(z) \in A$  be in the class  $S_\Sigma^\eta(\gamma, \beta, \lambda)$ . Then

$$\begin{aligned} |a_2| &\leq \frac{2\zeta}{q \sqrt{\left| (1 + \beta e^{i\gamma}) \left\{ [1 - \lambda + \lambda 2]_q (2\zeta) - (1 - \zeta)(1 + \beta e^{i\gamma})(1 + \lambda q)^2 \right\} \right|}}, \\ |a_3| &\leq \frac{2\zeta}{q[2]_q |1 + \beta e^{i\gamma}| (1 + \lambda q[2]_q)} + \frac{2\zeta^4}{q^2 |(1 + \beta e^{i\gamma})|^2 (1 + \lambda q)^2}. \end{aligned} \tag{48}$$

Let

$$\begin{aligned} \varphi(z) &= \frac{1 + (1 - 2\vartheta)z}{1 - z} \\ &= 1 + 2(1 - \vartheta)z + 2(1 - \vartheta)^2 z^2 + \dots (0 < \vartheta \leq 1, z \in U), \end{aligned} \tag{49}$$

in Definition 5, of the biunivalent function class  $S_\Sigma(\gamma, \beta, \lambda, \phi)$ , we obtain a new class  $S_\Sigma^\vartheta(\gamma, \beta, \lambda)$  given by Definition 13.

*Definition 13.* For  $0 < \vartheta \leq 1$ , a function  $f(z) \in A$  is said to be in the class  $S_\Sigma^\vartheta(\gamma, \beta, \lambda)$  if it satisfies the following conditions:

$$\begin{aligned} (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{z D_q f(z)}{f(z)} + \lambda \frac{D_q(z D_q f(z))}{D_q f(z)} \right] - \beta e^{i\gamma} &< \frac{1 + (1 - 2\vartheta)z}{1 - z} (z \in U), \\ (1 + \beta e^{i\gamma}) \left[ (1 - \lambda) \frac{w D_q g(w)}{g(w)} + \lambda \frac{D_q(w D_q g(w))}{D_q g(w)} \right] - \beta e^{i\gamma} &< \frac{1 + (1 - 2\vartheta)w}{1 - w} (w \in U), \end{aligned} \tag{50}$$

where  $g = f^{-1}$ .

Using the parameter setting of Definition 13 in Theorem 10, we get the following corollary.

**Corollary 14.** For  $0 < \vartheta \leq 1$ , let the function  $f(z) \in A$  be in the class  $S_{\vartheta}^{\Sigma}(\gamma, \beta, \lambda)$ . Then

$$|a_2| \leq \frac{1}{q} \sqrt{\frac{2(1-\vartheta)}{|1+\beta e^{i\vartheta}| [1-\lambda+\lambda[2]_q]}}$$

$$|a_3| \leq \frac{2(1-\vartheta)}{q[2]_q |1+\beta e^{i\vartheta}| [1+q\lambda[2]_q]} + \frac{2(1-\vartheta)^2}{q^2(1+\lambda q)^2 |(1+\beta e^{i\vartheta})^2|}. \tag{51}$$

**Theorem 15.** Let the function  $f$  given by (1) be in the class  $B_{\Sigma}(n, \gamma, \beta, \lambda, \phi)$ . Then

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{|q(1+\beta e^{i\vartheta}) [2]_q [3]_q^n (1+\lambda q[2]_q) - [2]_q^{2n} (1+\lambda q)^2| B_1^2 + (B_1 - B_2)(1+\beta e^{i\vartheta})^2 q^2 [2]_q^{2n} (1+\lambda q)^2|}}, \tag{52}$$

$$|a_3| \leq \frac{B_1}{q[2]_q [3]_q^n (1+\beta e^{i\vartheta}) (1+\lambda q[2]_q)} + \frac{B_1^2}{q^2 [2]_q^{2n} (1+\beta e^{i\vartheta})^2 (1+\lambda q)^2}. \tag{53}$$

*Proof.* Let  $f \in B_{\Sigma}(n, \gamma, \beta, \lambda, \phi)$ ; there are two Schwarz functions  $u$  and  $v$  defined by (26) and (27), respectively, such that

$$\begin{aligned} (1+\beta e^{i\vartheta}) \left[ \frac{(1-\lambda)S_q^{n+1}f(z) + \lambda S_q^{n+2}f(z)}{(1-\lambda)S_q^n f(z) + \lambda S_q^{n+1}f(z)} \right] - \beta e^{i\vartheta} &= \varphi(u(z)), \\ (1+\beta e^{i\vartheta}) \left[ \frac{(1-\lambda)S_q^{n+1}g(w) + \lambda S_q^{n+2}g(w)}{(1-\lambda)S_q^n g(w) + \lambda S_q^{n+1}g(w)} \right] - \beta e^{i\vartheta} &= \varphi(v(w)). \end{aligned} \tag{54}$$

Since

$$\begin{aligned} (1+\beta e^{i\vartheta}) \left[ \frac{(1-\lambda)S_q^{n+1}f(z) + \lambda S_q^{n+2}f(z)}{(1-\lambda)S_q^n f(z) + \lambda S_q^{n+1}f(z)} \right] - \beta e^{i\vartheta} \\ = 1 + q(1+\beta e^{i\vartheta}) \left\{ [2]_q^n (1+\lambda q)a_2 z \right. \\ \left. + [2]_q [3]_q^n (1+\lambda q[2]_q)a_3 - [2]_q^{2n} (1+\lambda q)^2 a_2^2 \right\} z^2 + \dots \end{aligned} \tag{55}$$

$$\begin{aligned} (1+\beta e^{i\vartheta}) \left[ (1-\lambda) \frac{wD_q g(w)}{g(w)} + \lambda \frac{D_q(wD_q g(w))}{D_q g(w)} \right] - \beta e^{i\vartheta} \\ = 1 + q(1+\beta e^{i\vartheta}) \left\{ -[2]_q^n (1+\lambda q)a_2 z \right. \\ \left. + \left\{ [2]_q [3]_q^n (1+\lambda q[2]_q) - [2]_q^{2n} (1+\lambda q)^2 \right\} a_2^2 \right. \\ \left. - [2]_q [3]_q^n (1+\lambda q[2]_q)a_3 \right\} z^2 + \dots \end{aligned} \tag{56}$$

Now, upon equating the coefficients in (30) and (55) and in (31) and (56), we get

$$q[2]_q^n (1+\beta e^{i\vartheta})(1+\lambda q)a_2 = \frac{1}{2} B_1 p_1, \tag{57}$$

$$\begin{aligned} q(1+\beta e^{i\vartheta}) \left[ [2]_q [3]_q^n (1+\lambda q[2]_q)a_3 - [2]_q^{2n} (1+\lambda q)^2 a_2^2 \right] \\ = \frac{1}{2} B_1 \left( p_2 - \frac{p_1^2}{2} \right) + \frac{1}{4} B_2 p_1^2, \end{aligned} \tag{58}$$

$$-(1+\beta e^{i\vartheta})q[2]_q^n (1+\lambda q)a_2 = \frac{1}{2} B_1 q_1, \tag{59}$$

$$\begin{aligned} q(1+\beta e^{i\vartheta}) \left\{ [2]_q [3]_q^n (1+\lambda q[2]_q) \right. \\ \left. - [2]_q^{2n} (1+\lambda q)^2 \right\} a_2^2 - [2]_q [3]_q^n (1+\lambda q[2]_q)a_3 \\ = \frac{1}{2} B_1 \left( q_2 - \frac{q_1^2}{2} \right) + \frac{1}{4} B_2 q_1^2. \end{aligned} \tag{60}$$

From (57) and (59), it follows that

$$p_1 = -q_1, \tag{61}$$

and after a few additional measurements using (58)–(60), we find

$$a_2^2 = \frac{B_1^3(p_2 + q_2)}{4 \left\{ q(1 + \beta e^{i\gamma}) \left[ [2]_q [3]_q^n (1 + \lambda q [2]_q) - [2]_q^{2n} (1 + \lambda q)^2 \right] B_1^2 + (B_1 - B_2)(1 + \beta e^{i\gamma})^2 q^2 [2]_q^{2n} (1 + \lambda q)^2 \right\}},$$

$$a_3 = \frac{B_1(p_2 - q_2)}{4q[2]_q[3]_q^n(1 + \beta e^{i\gamma})(1 + \lambda q[2]_q)} + \frac{B_1^2(p_1^2 + q_1^2)}{8q^2[2]_q^{2n}(1 + \beta e^{i\gamma})^2(1 + \lambda q)^2}.$$

Applying Lemma 9 is followed by the estimates in (52) and (53).  $\square$

If we set  $\varphi(z) = ((1 + z)/(1 - z))^\eta$  in Definition 7, of the biunivalent function class  $B_{\Sigma}(n, \gamma, \beta, \lambda, \phi)$ , we obtain a new class  $B_{\Sigma}^\eta(n, \gamma, \beta, \lambda)$  given by Definition 16.

**Definition 16.** For  $0 < \zeta \leq 1$ , a function  $f(z) \in A$  is said to be in the class  $B_{\Sigma}^\eta(n, \gamma, \beta, \lambda)$  if it satisfies the following conditions:

$$(1 + \beta e^{i\gamma}) \left[ \frac{(1 - \lambda)S_q^{n+1}f(z) + \lambda S_q^{n+2}f(z)}{(1 - \lambda)S_q^n f(z) + \lambda S_q^{n+1}f(z)} \right] - \beta e^{i\gamma} < \left( \frac{1 + z}{1 - z} \right)^\eta \quad (z \in U),$$

$$(1 + \beta e^{i\gamma}) \left[ \frac{(1 - \lambda)S_q^{n+1}g(w) + \lambda S_q^{n+2}g(w)}{(1 - \lambda)S_q^n g(w) + \lambda S_q^{n+1}g(w)} \right] - \beta e^{i\gamma} < \left( \frac{1 + w}{1 - w} \right)^\eta \quad (w \in U),$$

(63)

where  $g = f^{-1}$ .

Using the parameter setting of Definition 16, in Theorem 15, we get the following corollary.

**Corollary 17.** For  $0 < \eta \leq 1$ , let the function  $f(z) \in A$  be in the class  $B_{\Sigma}^\eta(n, \gamma, \beta, \lambda)$ . Then

$$|a_2| \leq \frac{2\zeta}{\sqrt{\left| \frac{q(1 + \beta e^{i\gamma}) \left[ [2]_q [3]_q^n (1 + \lambda q [2]_q) - [2]_q^{2n} (1 + \lambda q)^2 \right] (2\zeta) + q^2 [2]_q^{2n} (1 - \zeta) (1 + \beta e^{i\gamma})^2 (1 + \lambda q)^2}{q^2 [2]_q^{2n} (1 - \zeta) (1 + \beta e^{i\gamma})^2 (1 + \lambda q)^2} \right|}},$$

$$|a_3| \leq \frac{2\zeta}{q[2]_q[3]_q^n(1 + \beta e^{i\gamma})(1 + \lambda q[2]_q)} + \frac{4\zeta^2}{q^2[2]_q^{2n}(1 + \beta e^{i\gamma})^2(1 + \lambda q)^2}.$$

(64)

If we set  $\varphi(z) = (1 + (1 - 2\vartheta)z)/(1 - z)$  in Definition 7, of the biunivalent function class  $B_{\Sigma}(n, \gamma, \beta, \lambda, \phi)$ , we obtain a new class  $B_{\Sigma}^\vartheta(n, \gamma, \beta, \lambda)$  given by Definition 18.

**Definition 18.** For  $0 < \vartheta \leq 1$ , a function  $f(z) \in A$  is said to be in the class  $B_{\Sigma}^\vartheta(n, \gamma, \beta, \lambda)$  if it satisfies the following conditions:

$$(1 + \beta e^{i\gamma}) \left[ \frac{(1 - \lambda)S_q^{n+1}f(z) + \lambda S_q^{n+2}f(z)}{(1 - \lambda)S_q^n f(z) + \lambda S_q^{n+1}f(z)} \right] - \beta e^{i\gamma} < \frac{1 + (1 - 2\vartheta)z}{1 - z} \quad (z \in U),$$

$$(1 + \beta e^{i\gamma}) \left[ \frac{(1 - \lambda)S_q^{n+1}g(w) + \lambda S_q^{n+2}g(w)}{(1 - \lambda)S_q^n g(w) + \lambda S_q^{n+1}g(w)} \right] - \beta e^{i\gamma} < \frac{1 + (1 - 2\vartheta)w}{1 - w} \quad (w \in U),$$

(65)

where  $g = f^{-1}$ .

Using the parameter setting of Definition 18 in Theorem 15, we get the following corollary.

**Corollary 19.** For  $0 < \vartheta \leq 1$ , let the function  $f(z) \in A$  be in the class  $B_{\Sigma}^\vartheta(n, \gamma, \beta, \lambda)$ . Then

$$|a_2| \leq \sqrt{\frac{2(1 - \vartheta)}{q \left| (1 + \beta e^{i\gamma}) \left[ [2]_q [3]_q^n (1 + \lambda q [2]_q) - [2]_q^{2n} (1 + \lambda q)^2 \right] \right|}},$$

$$|a_3| \leq \frac{2(1 - \vartheta)}{q[2]_q[3]_q^n(1 + \beta e^{i\gamma})(1 + \lambda q[2]_q)} + \frac{4(1 - \vartheta)^2}{q^2[2]_q^{2n}(1 + \beta e^{i\gamma})^2(1 + \lambda q)^2}.$$

(66)

### 3. Conclusions

This study introduces two new subclasses of biunivalent functions associated with the Jackson  $q$ -difference operator in the open unit disc. We have determined upper bounds for the Taylor-Maclaurin coefficients  $|a_2|$  and  $|a_3|$  of functions belonging to these new subclasses. Our results generalize some of the earlier work of several authors.

### Data Availability

No data were used to support this study.

### Conflicts of Interest

The authors declare no conflict of interest.

### Authors' Contributions

The authors contributed equally to the writing of this paper. All authors have read and agreed to the published version of the manuscript.

## References

- [1] T. Bulboacă, *Differential Subordinations and Superordinations, Recent Results*, House of Scientific Book Publ, Cluj-Napoca, 2005.
- [2] S. S. Miller and P. T. Mocanu, "Differential subordinations: theory and applications," in *Series on Monographs and Textbooks in Pure and Appl. Math.*, vol. 255, Marcel Dekker, Inc, New York, 2000.
- [3] F. H. Jackson, "On  $q$ -functions and a certain difference operator," *Transactions of the Royal Society of Edinburgh*, vol. 46, pp. 253–281, 1909.
- [4] F. H. Jackson, "On  $q$ -definite integrals," *Quarterly Journal of Pure and Applied Mathematics*, vol. 41, pp. 193–203, 1910.
- [5] R. D. Carmichael, "The general theory of linear  $q$ -difference equations," *American Journal of Mathematics*, vol. 34, no. 2, pp. 147–168, 1912.
- [6] T. E. Mason, "On properties of the solutions of linear  $q$ -difference equations with entire function coefficients," *American Journal of Mathematics*, vol. 37, no. 4, pp. 439–444, 1915.
- [7] W. J. Trjitzinsky, "Analytic theory of linear  $q$ -difference equations," *Acta Mathematica*, vol. 61, pp. 1–38, 1933.
- [8] M. E. H. Ismail, E. Merkes, and D. Styer, "A generalization of starlike functions," *Complex Variables, Theory and Application: An International Journal*, vol. 14, no. 1-4, pp. 77–84, 1990.
- [9] S. Yalçın, Ç. Altinkaya, G. Murugusundaramoorthy, and K. Vijaya, "Hankel inequalities for a subclass of bi-univalent functions based on Salagean type  $q$ -difference operator," *Journal of Mathematical & Fundamental Sciences*, vol. 52, no. 2, pp. 189–201, 2020.
- [10] O. P. Ahuja, A. Cetinkaya, and N. Bohra, "On a class of  $q$ -bi-univalent functions of complex order related to shell-like curves connected with the Fibonacci numbers," *Honam Mathematical Journal*, vol. 42, no. 2, pp. 319–330, 2020.
- [11] A. Y. Lashin, A. O. Badghaish, and B. M. Algethami, "A study on certain subclasses of analytic functions involving the jackson  $q$ -difference operator," *Symmetry*, vol. 14, no. 7, p. 1471, 2022.
- [12] M. Govindaraj and S. Sivasubramanian, "On a class of analytic functions related to conic domains involving  $q$ -calculus," *Analysis Mathematica*, vol. 43, no. 3, pp. 475–487, 2017.
- [13] G. S. Salagean, "Subclasses of univalent functions," in *Complex Analysis, fifth Romanian-Finnish Seminar, Part 1 (Bucharest, 1991)*, *Lecture Notes in Mathematics*, vol. 1013, pp. 362–372, Springer, Berlin, 1983.
- [14] S. Shams, S. R. Kulkarni, and J. M. Jahangiri, "Classes of uniformly starlike and convex functions," *International Journal of Mathematics and Mathematical Sciences*, vol. 55, 2961 pages, 2004.
- [15] S. Hussain, A. Rasheed, M. A. Zaighum, and M. Darus, "A subclass of analytic functions related to  $k$ -uniformly convex and starlike functions," *Journal of Function Spaces*, vol. 2017, Article ID 9010964, 7 pages, 2017.
- [16] P. T. Mocanu, "Une propriete de convexite generalisee dans la theorie de la representation conforme," *Académie Roumaine*, vol. 11, no. 34, pp. 127–133, 1969.
- [17] T. M. Seoudy and M. K. Aouf, "Coefficient estimates of new classes of  $q$ -starlike and  $q$ -convex functions of complex order," *Journal of Mathematical Inequalities*, vol. 10, no. 1, pp. 135–145, 2007.
- [18] P. L. Duren, *Univalent Functions, Grundlehren der Mathematischen Wissenschaften*, vol. 259, Springer, New York, 1983.
- [19] M. Lewin, "On a coefficient problem for bi-univalent functions," *Proceedings of the American Mathematical Society*, vol. 18, no. 1, pp. 63–68, 1967.
- [20] D. A. Brannan, J. Clunie, and W. E. Kirwan, "Coefficient estimates for a class of starlike functions," *Canadian Journal of Mathematics*, vol. 20, pp. 476–485, 1970.
- [21] D. L. Tan, "Coefficient estimates for bi-univalent functions," *Chinese Annals of Mathematics, Series A*, vol. 5, pp. 559–568, 1984.
- [22] D. A. Brannan and T. S. Taha, "On some classes of bi-univalent functions," *Studia Universitatis Babeş-Bolyai Mathematica*, vol. 31, no. 2, pp. 70–77, 1986.
- [23] H. M. Srivastava, A. K. Mishra, and P. Gochhayat, "Certain subclasses of analytic and bi-univalent functions," *Applied Mathematics Letters*, vol. 23, no. 10, pp. 1188–1192, 2010.
- [24] E. E. Ali, "New subclasses of bi-univalent functions defined by Dziok-Srivastava operator," *Analele Universitatii din Oradea. Fascicola Matematica's, Tom*, vol. 26, no. 1, pp. 39–47, 2019.
- [25] Ş. Altinkaya, "Bounds for a new subclass of bi-univalent functions subordinate to the Fibonacci numbers," *Turkish Journal of Mathematics*, vol. 44, no. 2, pp. 553–560, 2020.
- [26] Ş. Altinkaya and S. Yalçın, "Initial coefficient bounds for a comprehensive subclass of Sakaguchi type functions," *Acta Universitatis Matthiae Belii, series Mathematics*, vol. 23, pp. 27–33, 2015.
- [27] Ş. Altinkaya and S. Yalçın, "Coefficient estimates for two new subclasses of biunivalent functions with respect to symmetric points," *Journal of Function Spaces*, vol. 2015, Article ID 145242, 5 pages, 2015.
- [28] E. Deniz, J. M. Jahangiri, S. G. Hamidi, and S. K. Kina, "Faber polynomial coefficients for generalized bi-subordinate functions of complex order," *Journal of Mathematical Inequalities*, vol. 12, no. 3, pp. 645–653, 2018.
- [29] A. Y. Lashin, "On certain subclasses of analytic and bi-univalent functions," *Journal of the Egyptian Mathematical Society*, vol. 24, no. 2, pp. 220–225, 2016.
- [30] A. Y. Lashin, "Coefficient estimates for two subclasses of analytic and bi-univalent functions," *Ukrainian Mathematical Journal*, vol. 70, no. 9, pp. 1484–1492, 2019.
- [31] G. Murugusundaramoorthy, S. Yalçın, and Ş. Altinkaya, "Fekete-Szegő inequalities for subclass of bi-univalent functions associated with Sălăgean type  $q$ -difference operator," *Afrika Matematika*, vol. 30, no. 5-6, pp. 979–987, 2019.
- [32] A. A. Attiya, A. Y. Lashin, E. E. Ali, and P. Agarwal, "Coefficient bounds for certain classes of analytic functions associated with Faber polynomial," *Symmetry*, vol. 13, no. 2, p. 302, 2021.
- [33] H. E. Darwish, A. Y. Lashin, R. M. El-Ashwah, and E. M. Madar, "Coefficient estimates of some classes of rational functions," *International Journal of Open Problems in Complex Analysis*, vol. 11, no. 1, pp. 16–30, 2019.
- [34] S. G. Hamidi and J. M. Jahangiri, "Polynomes de Faber et coefficients des fonctions bi-subordonnees," *Comptes Rendus Mathematique*, vol. 354, no. 4, pp. 365–370, 2016.
- [35] S. P. Goyal and R. Kumar, "Coefficient estimates and quasi-subordination properties associated with certain subclasses of analytic and bi-univalent functions," *Mathematica Slovaca*, vol. 65, no. 3, pp. 533–544, 2015.
- [36] A. Zireh, E. A. Adegani, and M. Bidkham, "Faber polynomial coefficient estimates for subclass of bi-univalent functions defined by quasi-subordinate," *Mathematica Slovaca*, vol. 68, no. 2, pp. 369–378, 2018.
- [37] C. Pommerenke, *Univalent Functions*, Vandenhoeck and Ruprecht, Göttingen, 1975.